195 < You are given vectors A =500 —6.5] and
B=-35+1. 07. A third vector C lies in the xy plane Vector C
is perpendicular to vector A, and the scalar product of C with B is
15.0. From this information, find the components of vector C.



3.63 *» A grasshopper leaps
into the air from the edge of a
vertical cliff, as shown in Fig.
P3.63. Use information from
the figure to find (a) the initial
speed of the grasshopper and
(b) the height of the cliff.

Figure P3.63




3.23 ¢+ The earth has a radius of 6380 km and turns around once
on its axis in 24 h. (a) What is the radial acceleration of an object at
the earth’s equator? Give your answer in m/ s? and as a fraction of g.
(b) If a4 at the equator is greater than g, objects will fly off the
earth’s surface and into space. (We will see the reason for this in
Chapter 5.) What would the period of the earth’s rotation have to
be for this to occur?



3.33 ** A canoe has a velocity of 0.40 m/s southeast relative to
the earth. The canoe is on a river that is flowing 0.50 m/s east rela-
tive to the earth. Find the velocity (magnitude and direction) of the
canoe relative to the river.



3.96 -++ Asa ship is approaching the dock at 45.0 cm/s, an impor-
tant piece of landing equipment needs to be thrown to it before it can
dock. This equipment is thrown at 15.0 m/s at 60.0° above the hori-

Figure P3.98 zontal from the top of a tower at the edge of the water, 8.75 m above
15.0m/s  the ship’s deck (Fig. P3.56). For this equipment to land at the front
of the ship, at what distance D from the dock should the ship be
60.0°  when the equipment is thrown? Air resistance can be neglected.
SRR A
5.0 cm/s
8.75m




